Acad. Algebra 1 Midterm Review

1) Midterm covers chapters 1-6, 7.1, and 7.6

2) Start preparing NOW !

3) Review all of your tests

4) Make sure you can do all of the problems on the WS. Answers posted on
my web sight.

5) For exam, bring a calculator and a 3x5 handwritten index card (both sides)
See me for extra help or questions, Ms. Groves

Solve the equation.

29. % =g 30. 17=4x—7

n
31. 9-2=28 32. 16w— 10w+ 13 = —5
33. 4h—13=Th+2 3a. 2252 -30) = 2(122 + 16)

The perimeter P of a rectangle is given by the formula
P =2{ + 2w where { is the length and w is the width.

35. Solve the formula for /.

36. U'se the rewritten formula to find the length of a rectangle with a
width of 9 inches and a perimeter of 40 inches.

Solve the proportion.

x_ 12 12 36 21 3k —

37. Lo
3w 63 15 5

40. A high school track team has 40 athletes. Eleven members of the
team run hurdles. What percent of the team runs hurdles?

El

Write the equation in function form.

- 41 —12x+3y=15 42. 5x = —10y + 30

Find the slope of the line that passes through the points.

43. (=7,3)and (3, 8) aa. (-2, ~%)and( -5, 6)

T Cumulative Test

— For use after Chapters 1-7

Evaluate the expression.

1. 7+62+3 2. 4.52-18
3. 4032 - (17 - 12)7] a. 2[(5 + 32 - 31]
5. 3(5m—4);m= —2 6. Ox2—4;x=3

Write an algebraic expression, an equation, or an inequality.

7. The sum of 5 times a number x and 17
8. The difference of 21 and the product of 5 and a number y is less than 7.
9. The quotient of 75 and the sum of a number z and 2 is 25.

10. A family goes to an amusement park. Adult tickets cost $21.
Children under 10 years of age pay $15. Write an algebraic
expression for the total cost. Then find the total cost of 4 adult tickets
and 3 children’s tickets.

11. Order the numbers from least to greatest: —1.6, \/4_, 0,3.1, Vs,
What+ 1S5 an :‘n*'ﬁg@ r 2

Find the sum, difference, product, or quotient.

12. —11+(=7)  13. 27+ (-32) 14. 17— (—6)
15. -1 16. 15(—6) 17. 3(-9)(-2)
18. —21 = (=7 19. —14+2 20. 3+ (-30)

Evaluate the expression.
21. —S5x+ 14— 2whenx=3 22. 11+ l78whf:ny =3

23. 73w — 5)whenw =4 24. 15+‘1—k|whenk=8

Simplify the expression.
25. —3(—x+06)
26. 73y —4) — 18y

—8w + 12

27. —
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Graph the equation.

45.

47. The price p (in dollars) varies directly with the number of admissions
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a to a museum. The museum charges $12 for 5 student admissions.
Write a direct variation equation that relates p and a. Then find the
total admission price for 30 students.

48. Graph the-function A(x) = x — 4. ;L:ﬂj;j;f[fd
Compare the graph with the graph S8 S L 1
of f(x) = x. __;_+FM;J_!L
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Write an equation in slope-intercept form of the line with the
given characteristics.

49. slope 3; y-intercept 5

51.

53. Write an equation in —__
T 7@ PofTSL0p% LotTH (PoinT 1

passes through (3, 2)
and (—5, —8)

50. m = —2; passes through (—1, 5)

52. perpendiculartoy = —~3x + [;
. passes through (2, 2)
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Solve the inequality, if possible. Graph your solution.

55. x+ 5.1>294
| 1 | | | |
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Solve the equation, if possible.

61. 3|x—2] +2=17
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Tell whether the linear system has one solution, no solution,

or infinitely many solutions.

| 68. 4y — 3y =06 69. 3x + Ty=38
| 8r =6y + 10 2ly = —9% + 24
70. Graph the system of linear inequalities. T y
| - %X -2 2
\|| p<3vt4 " 2 [ 2 ¢ %
. 1
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Solve the equation.

29. _-’”—6=8 @
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3. 17=4-7 () |
n
8% Q=gmas @ 32. 16w—10w+13:_q@
33. 4h - 13:7h+2@ 38 £025-30) = 3012z + 16)
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The perimeter P of a rectangle is given by the formula |

P =27 + 2w where { is the lﬂmj the width.
35. Solve the formula for £ ,@2 M

36. Use the rewritten formula to find the | length of a rectangle with a

width of 9 inches and a perimeter of 40 inches. J {E?_’., TE -Doét! 03
_— I—?%_./ ?be-'ee%
Solve the proportion. U‘Qﬁ
x 12 ! 36
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40. A high school track team has 40 athletes. Eleven members of the @)

team m?I hurdles. What percent of the team runs hurdles?
= [40 =415 = (225 %)
Write the equatmn in function Torm. re place W wi+h R'(’D

41. -1 ML_T_*Q = —10v + 30
Y- dcsTaes ] (9. Lies b{ig)
Find the slope of the line that passes through the points. "fj( 5

43. (~7,3)and (3, 8) a4, (-2, =9)and( -5, 6)

EES Cumulative Test

i For use after Chapters 1-7

Evaluate the expression.

1. 7+6+3 09 2 4.5 18 @2

3. 432 - (17 - 12)7] a. 35+ 37 -31)(22)
5. 3(5m—4);m= —2.E 6. O —4;x=3 @

Write an algebraic expression, an equation, or an inequality.

7. The sum of 5 times a number x and 17 \ Sx+1F \
8. The difference of 21 and the product of 5 and a number y is less t £
9. The quotient of 75 and the sum of a number z and 2 is 25. m

10. A family goes to an amusement park. Adult tickets cost $21 "g_:i o
Children under 10 years of age pay $15. Write an algebraic

expression for the tatal cost, Then tal cost of 4 adult tickets
o, % oo N
and 3 children’s tickets. Al 216+ lSC_\ }\E?ﬁ
11. Order the numbers from least to greatest: —1.6, \/_, 0,3.1, V5. X
: : aF‘Q&(ﬂdr&5 = —.
What 16 an integer { NOF o T Is, Z%ﬁ[@ﬁl

Find the sum, difference, product, or qutment

Py o
12. —11+(-NCIS 27+ (=32) CS M4, 176 (23)

13.

—5*,2\ el 15 - _(
18. 21+ (-7)— 19. —l4 =

3] F@

Evaluate the expression.
21. —5x+ 14— 2x*wheny =3 22 11 -Fl_—swhmy:B <
<D ; 162
23. 7(3W*5)whenw=é 24. 15+ |1 ~ k| whenk =
4Hq

22)
Simplify the expression.

25. —3(—x+0) @
z6. 73y —4) - 18 | 3Y-3%

- 8w+ 12
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Solve the inequality, if possible. Graph your solution.

(743 ) se. ek =3 @
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47. The price p (in dollars) varies directly with the number of admissions
a to a museum. The museumharges 312 for 5 student admissions

Write a direct varation equation thal relates p and en find the S
total admission price for 30 students. %0 Studeantd 2 | &
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4g. CUraph the-function A{x) = x — 4. L b ] | i i
Compare the graph with the graph S
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Write an equation in slope-intercept form of the line with the
3 T— ari -H = {>

Y=
Qz-2x+35 |

=2
50. m = —Z passes through (—1,5)

*perpendicumr toy = -3¢+ 1;

§1. passes through (3, 2)

and (-5, =8 passes through (2, 2) SEE S1DeX
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olve the equation, if possible.

1, 3|

2| +2=11 62.
ix-21=9 X==31

Tell whather the linear system has one solution,/m solution,
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or infinitely many solutions.
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88. 4y — 3y =6 V=312
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2ly = -9 +
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